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1. fuEu esa ls dkSulk dFku ;qXed ds fy, lgh ugha gSA
(a) ;qXed] cy vk?kw.kZ ds lapkj.k ds fy, gksrs gSa
(b) ;qXed] esyh 'kS¶Vh dks lajs[k.k esa j[krs gSa
(c) ;qXed dk mi;ksx 'kS¶Vksa esa gksrk gSa
(d) ;qXed lekUrj 'kS¶Vksa dks tksMrs gSa

2. tc csYV iqyh ij pyrh gS] rks ruu dk ;ksx fdruk gksrk gSa \
(a) vkjafHkd ruu ls de
(b) vkjfHkad ruu ls vf/kd
(c) vkjafHkd ruu ls nqxqus ls vf/kd
(d) vkjafHkd ruu dk vk/kk

3. ,d bLikr dh NM ds nksuksa fljs fLFkj ;k vkc} dj fn, x, gSA
rnuqlkj ;fn NM dks xeZ fd;k tk, rks mlls D;k mRiUu gksxk \
(a) laihMu izfrcy
(b) ruu izfrcy
(c) cadu izfrcy
(d) mi;qZDr esa ls dksbZ ughs

4. ,d isap ds fy, dqaMfyuh dk dks.k   vxzrk  L vkSj isap dh
pwMh ds ek/; O;kl  d ls fdl izdkj lacaf/kr gksrk gSa \
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5. liZd ØSad Jà[kyk] ,d pkj NMksa ;k 'ykdk okyh ;a=koyh gksrh gSA
rnuqlkj mlesa D;k gksrk gSa \
(a) ,d liZd ;qxy rFkk nks orZu ;qxy
(b) ,d liZd ;qxy rFkk rhu orZu ;qxy
(c) nks liZd ;qxy rFkk nks ?kw.khZ ;qxy
(d) nks liZd ;qxy rFkk nks orZu ;qxy

6. ifg;k rFkk foHksnh /kqjh esa xfr vuqikr fdruk gksrk gSa\
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1. Which of the following statements is not true for

couplings ?

(a) Couplings are meant for transmitting torque

(b) Couplings keep the mating shafts in alignment

(c) Couplings are used in shafts

(d) Couplings connect parallel shafts

2. The sum of the tensions when the belt is running on

the pulley is

(a) less than the initial tension

(b) More than the initial tension

(c) More than twice the initial tension

(d) Half the initial tension

3. A steel bar is fixed at both ends. If the bar is heated,

it will develop

(a) Compressive stress

(b) Tensile stress

(c) Bending stress

(d) None of the above

4. For a screw, the angle of helix () is related to the
lead (L) and mean screw thread diameter (d) as
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5. A slider crank chain is a four bar linkage consisting

of

(a) One sliding pair and two turning pairs

(b) One sliding pair and three turning pairs

(c) Two sliding pairs and two rotating pairs

(d) Two sliding pairs and two turning pairs

6. In wheel and differential axle, the velocity ratio is

given by
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7. Acme threads are generally used in

(a) Railway carriage couplings

(b) Spindles of bench vices

(c) Screw cutting lathes

(d) Feed mechanism of machine tools

8. In a hartnell governor, 800 N force is exerted on the

sleeve at minimum radius and 1200 N force is exerted

at minimum radius. If slleve lift is 20 mm, the value

of spring stiffness (S) is

(a) 10N/mm (b) 20N/mm

(c) 15N/mm (d) 18N/mm

9. The minimum and minimum speeds of a flywheel

during a cycle are N
1
 and N

2
 r.p.m. respectively. The

coefficient of steadiness of the flywheel is
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10. The angle of vee belts is

(a) 150 (b) 300

(c) 400 (d) 450

11. A point on a link connecting double slider crank chain

traces a/an

(a) Straight line path (b) Circular Path

(c) Parabolic path (d) Elliptical path

12. The angular speed of a wall’s governor, when its
height is 20 cm, will be equal to

(a) 20 rad/sec (b) 10 rad/sec

(c) 6 rad/sec (d) 7 rad/sec

13. The efficiency in case of worm gear drives is

generally in the range of

(a) 10-25 percent (b) 40-60 percent

(c) 50-70 percent (d) 70-85 percent

14. In a kinematic chain, the minimum number of

kinematic pairs required is

(a) one (b) two

(c) three (d) four

7. ,Des pwfM;kWa lkekU;r% fdlesa iz;qDr gksrh gSa
(a) jsyos ds fMCcksa ds ;qXed
(b) csap okbl ds rdqZ
(c) isap drZu ds [kjkn
(d) e'khuh vkStkjksa dh izHkj.k ;a=koyh

8. ,d gkVZusy vf/kfu;a=d esa U;wure f=T;k ij  800 N cy dks Lyho
ij vkSj vf/kdre f=T:k ij  1200 N cy dks yxk;k x;k gSA
rnuqlkj] ;fn Lyho mRFkkiu 20 mm gks rks fLizax nquZE;rk (S)

fdruh gksxh \
(a) 10N/mm (b) 20N/mm

(c) 15N/mm (d) 18N/mm

9. xfrikyd pØ ds ,d pØ esa vf/kdre rFkk U;wure xfr;kWa Øe'k%
N

1
vkSj  N

2
 r.p.m. gSA rnuqlkj xfrikyd pØ dk fLFkjrk xq.kkad

fdruk gksxk \
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10. oh csYV dk dks.k fdruk gksrk gS \
(a) 150 (b) 300

(c) 400 (d) 450

11. f}liZd ØSad psu dks tksMus okyh dMh ds ,d fcUnq ls fdldk irk
pyrk gS \
(a) ljy js[kk iFk (b) o`rh; iFk
(c) ijoyh; iFk (d) nh?kZo`rh; iFk

12. ,d okWy vf/kfu;a=d dh mWapkbZ 20 cm gksus ij mldh dks.kh; xfr
fdruh gksxh \
(a) 20 rad/sec (b) 10 rad/sec

(c) 6 rad/sec (d) 7 rad/sec

13. oeZ fx;j pkyu dh fLFkfr esa n{krk lkekU;r% fdl ifjlj esa gksrh
gS \
(a) 10-25 izfr'kr (b) 40-60 izfr'kr
(c) 50-70 izfr'kr (d) 70-85 izfr'kr

14. 'kq}xfrd Jà[kyk esa] de&ls&de fdrus 'kq}xfrd ;qxyksa dh vko';drk
gksrh gS \
(a) ,d (b) nks
(c) rhu (d) pkj
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15. For a key to be equally strong in shearing and

crushing, the width of the key, assuming that the

allowable crushing stress is twice the allowable shear

stress, should be

(a) 2.5 times its thickness

(b) 2 times its thickness

(c) 1.5 times its thickness

(d) equal to its thickness

16. Tension in the tight side of a belt drive is 100 N and

that in the slack side 60 N. If the belt breadth is 10

cm and thickness 4 cm, what is the maximum stress

induced in the belt?

(a) 2.5 N/cm2 (b) 1.5 N/cm2

(c) 4 N/cm2 (d) 2 N/cm2

17. If two shafts of the same length, one of width is

hollow, transmit equal torques and have equal

maximum stress, then they should have equal

(a) Polar moment of inertia

(b) Polar modulus of section

(c) Diameter

(d) Angle of twist

18. In case of cantilever, irrespective of the type of

loading the maximum bending moment and maximum

shear force occur at

(a) Fixed end

(b) Free end

(c) Middle

(d) Any point

19. Ratio of moment of inertia of a circle and that of a

square having same area about their centroidal axis is

(a)
3


(b)

3

2

(c)
4


(d)

5

9

20. A circular shaft can transmit a torque of 13 KN-m. If

the torque is reduced to 12 kN-m, then the maximum

value of bending moment that can be applied to the

shaft is

(a) 1 kN-m (b) 3 kN-m

(c) 5 kN-m (d) 7 kN-m

15. ,d pkch dh] tks drZu rFkk lanyu esa ,dleku leFkZ gksuh gksa] ;g
ekudj fd Lohdk;Z lanyu izfrcy] Lohdk;Z drZu izfrcy dk nqxquk
gSa] pkSMkbZ fdruh gksuh pkfg, \
(a) mldh eksVkbZ dh 2-5 xquh
(b) mldh eksVkbZ dh 2 xquh
(c) mldh eksVkbZ dh 1-5 xquh
(d) mldh eksVkbZ ds cjkcj

16. ,d iV~Vk pkyu ds dls ik'oZ esa ruu 100 N gSa vkSj og f'kfFky
ik'oZ esa 60 N gSA ;fn iV~Vs dh pkSMkbZ 10 cm gkas vkSj eksVkbZ
4 cm gksa] rks iV~Vs esa izsfjr vf/kdre izfrcy fdruk gksxk \
(a) 2.5 N/cm2 (b) 1.5 N/cm2

(c) 4 N/cm2 (d) 2 N/cm2

17. ,dleku yackbZ ds nks 'kS¶V] ftlesa ,d [kks[kyk gSa] ,dleku
cy&vk?kw.kZ lapkfjr djrs gS vkSj mudk vf/kdre izfrcy Hkh
,dleku gSA rnuqlkj] muesa vkSj D;k ,dleku gksxk \
(a) /kqzoh; tMRo vk?kw.kZ
(b) /kqzoh; ifjPNsn ekikad
(c) O;kl
(d) ,saBu dks.k

18. dSaVhyhoj dh fLFkfr esa] pkgs mlesa fdlh Hkh izdkj dk Hkkj.k gks]
vf/kdre cadu vk?kw.kZ rFkk vf/kdre vi:i.k cy dgkWa ik;k tkrk
gS\
(a) vkc} fljk
(b) eqDr fljk
(c) e/; Hkkx
(d) fdlh Hkh fcUnq ij

19. ,d o`r rFkk oxZ] ftuds {ks=Qy vius ladsfUnz; v{k ds nk;js esa
,dleku gSa] ds tMRo vk?kw.kZ dk vuqikr fdruk gksxk \

(a)
3


(b)

3

2

(c)
4


(d)

5

9

20. ,d o`rkdkj 'kS¶V 13 KN-m cy vk?kw.kZ lapkfjr dj ldrk gSA
rnuqlkj ;fn cy vk?kw.kZ dks 12 kN-m, rd de dj fn;k tk,]
rks 'kS¶V ij yxk, tk ldus okys cadu vk?kw.kZ dk vf/kdre eku
D;k gksxk \
(a) 1 kN-m (b) 3 kN-m

(c) 5 kN-m (d) 7 kN-m
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21. Assertion (A) :

The preferred cross-section of a beam subjected to

transverse loading is I section.

Reason (R) :

Section Modulus of I section is low

(a) Both A and R are true and R is a correct

explanation of A

(b) Both A and R are true and R is not a correct

explanation of A

(c) A is true but R is false

(d) R is true but A is false

22. The value of Poisson’s Ratio is always less than
(a) 1 (b) 0.2

(c) 0.4 (d) 0.5

23. The spindle of a machine tool is subjected to the

following type of load:

(a) Torsional load

(b) Bending load

(c) Axial compressive load

(d) Axial tensile load

24. The cross-section of a member is subjected to a

uniform shear. The strain energy stored per unit

volume is equal to (G = modulus of rigidity)

(a)
22

G


(b)

2

2G



(c)
2

4G


(d)

2

G



25. A.

(+)

(–) B. (+)

C. (+) D. (+)

Figures A,B,C and D are bending moment distribution

of a simply supported beam for  some particular shear

stress distribution. which figure is the correct bending

moment diagram correspoding to the shear stress

distribution given below :

+

–

21. n`<dFku (A) :

vuqizLFk Hkkj.k ds v/khu ,d naM dk ilanhnk vuqizLFk ifjPNsn I

ifjPNsn gSA
dkj.k (R) :

I ifjPNsn dk ifjPNsn ekikad fuEu gSaA
(a) A vkSj R nksuks a lgh gS vkSj A dk lgh Li"Vhdj.k R

gSA
(b) A vkSj R nksuksa lgh gS] fdUrq A dk lgh Li"Vhdj.k R ugha

gSA
(c) A lgh gSa] fdUrq R xyr gSA
(d) R lgh gS] fdUrq A xyr gSA

22. Ioklksa vuqikr dk eku ges'kk fdlls de jgrk gS\
(a) 1 (b) 0.2

(c) 0.4 (d) 0.5

23. e'khuh vkStkj ds rdqZ ij fuEu esa fdl izdkj dk Hkkj yxk;k tkrk
gS\
(a) ,saBu Hkkj
(b) cadu Hkkj
(c) v{kh; laihMu Hkkj
(d) v{kh; ruu Hkkj

24. ,d vo;o ds vuqizLFk ifjPNsn ij ,dleku vi:i.k izfrcy
ykxw gksrk gSA rnuqlkj izfr bdkbZ vk;ru esa lafpr fod`fr mtkZ
fdlds cjkcj gksxh \ (G = n`<rk ekikad )

(a)
22

G


(b)

2

2G



(c)
2

4G


(d)

2

G



25. A.

(+)

(–) B. (+)

C. (+) D. (+)

js[kkfp=  A,B,C and D esa] fdlh fof'k"V vi:i.k izfrcy caVu
ds fy,] ,d ljy vk/kkjh naM ds cadu vk?kw.kZ caVu iznf'kZr gSA
rnuqlkj fuEu esa ls dkSu&lk js[kkfp=] uhps nh, x, vi:i.k
izfrcy caVu ds vuqdwy] lgh cadu vk?kw.kZ dk js[kkfp= gSa \

+

–
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(a) A is correct bending moment distribution

(b) B is correct bending moment distribution

(c) C is correct bending moment distribution

(d) D is correct bending moment distribution

26. A uniform simply supported beam of span (l) carries

a point load (W) at the Centre. The downward

deflection at the centre will be

(a) Wl2/8 El (b) Wl3/8 El

(c) 5 Wl2/384 El (d) Wl3/48 El

27. The power transmitted by a circular shaft rotating at

N rpm under action of Torque T is:

(a)
2 NT

750


(b)

2 NT

60



(c)
2 NT

450


(d)

2 NT

4500



28. A cylinder is said to be thin if the thickness to diameter

ratio is less than

(a) 1/5 (b) 1/10

(c) 1/15 (d) 1/20

29. The bending moment on a section is maximum where

shearing force is

(a) Minimum (b) Maximum

(c) Zero (d) Changing sign

30. Strut is defined as a

(a) Member of a structure which carries a tensile load

(b) Member of a structure which carries an axial

compressive load

(c) Vertical Member of a structure which carries a

tensile load

(d) Vertical Member of a structure which carries no

load

31. The expression
2

1

pdV gives the measure of work done

during

(a) Steady flow reversible process

(b) Non-flow reversible process

(c) Open system and any process

(d) Any system and any process

32. What approximate percentage of heat of combustion

is lost to the jacket cooling water?

(a) 5 % (b) 10 %

(c) 15 % (d) 25 %

(a) A lgh cadu vk?kw.kZ caVu gSA
(b) B lgh cadu vk?kw.kZ caVu gSA
(c) C lgh cadu vk?kw.kZ caVu gSA
(d) D lgh cadu vk?kw.kZ caVu gSA

26. ,d ,dleku ljy vk/kkjh foLr`fr (l) dk naM] vius e/; fcUnq ij
Hkkj (W) dk ogu djrk gSA rnuqlkj mlds e/; fcUnq ij v/kkseq[kh
fo{ksi fdruk gksxk \
(a) Wl2/8 El (b) Wl3/8 El

(c) 5 Wl2/384 El (d) Wl3/48 El

27. cy vk?kw.kZ T dh fØ;k ds v/khu N rpm ij ?kweus okys o`rkdkj
'kS¶V }kjk lapfjr 'kfDr fdruh gksrh gS\

(a)
2 NT

750


(b)

2 NT

60



(c)
2 NT

450


(d)

2 NT

4500



28. fdlh csyu dh eksVkbZ vkSj O;kl dk vuqikr fdrus ls de gksus ij]
mls iryk dgk tkrk gS \
(a) 1/5 (b) 1/10

(c) 1/15 (d) 1/20

29. fdlh ifjPNsn ij cadu vk?kw.kZ] vi:i.k cy fdl izdkj dk gksus
ij] vf/kdre gksrk gSa \
(a) U;wure (b) vf/kdre
(c) 'kwU; (d) ifjorhZ fpUg

30. laihMkax ;k Vsd dks dSls ifjHkkf"kr djrs gSa \
(a) lajpuk dk og vo;o] tks ruu Hkkj dk ogu djrk gSa
(b) lajpuk dk og vo;o] tks v{kh; laihMu Hkkj dk ogu djrk

gSA
(c) ljapuk dk og m/okZ/kj vo;o] tks ruu Hkkj dk ogu djrk

gSA
(d) ljapuk dk og m/okZ/kj vo;o] tks fdlh Hkkj dk ogu ugha

djrk

31. O;atd
2

1

pdV fdl izØe ds dk;Z&fu"iknu dk ekid gSa \

(a) fLFkj izokg mRØe.kh; izØe
(b) fcuk izokg mRØe.kh; izØe
(c) [kqyh i}fr rFkk dksbZ Hkh izØe
(d) dksbZ Hkh i}fr rFkk dksbZ Hkh izØe

32. tSdsV 'khru ty esa] yxHkx fdrus izfr'kr ngu m"ek dh gkfu gks
tkrh gS \
(a) 5 % (b) 10 %

(c) 15 % (d) 25 %
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33. If two liquids at different temperatures are mixed,
then the final temperature of the mixture of liquids
can be obtained by using
(a) Zeroth law of thermodynamics
(b) First law of thermodynamics
(c) Second law of thermodynamics
(d) Third law of thermodynamics

34. For an irreversible thermodynamics cycle

(a)
dQ

0
T
 (b)

dQ
0

T


(c)
dQ

0
T
 (d)

dQ
0

T


35. The enthalpy of evaporation of water
(a) Decreases with increase in pressure
(b) Decreases with decrease in pressure
(c) Increases with increase in pressure
(d) Remain unaffected by change in pressure

36. In a throttling process, the following thermodynamic
property remains consonant:
(a) Enthalpy (b) Entropy
(c) Specific heat (d) Energy

37. Heat supplied to a system equals the work done in
case of non-flow process carried out
(a) Isochorically (b) Isobarically
(c) Isothermally (d) Adiabatically

38. Neglecting changes in potential and kinetic energies, the

shaft work during a steady flow process is given by

(a) d  (b) d 
(c) Tds (d) sdT

39. Which property is an intensive property of the
system?
(a) Specific enthalpy (b) Volume
(c) Kinetic energy (d) Entropy

40. One of the extensive properties of a thermodynamic
system amongst the following is
(a) Pressure (b) Volume
(c) Temperature (d) Density

41. A heat engine is supplied with 278 kW of heat at a
constant fixed temperature of 2830C and the heat
rejection takes place at 50C. The engine is reversible
if the heat rejected, in kW, is
(a) 139 (b) 208
(c) 35 (d) 70

33. ;fn nks fHkUu rkieku ds nzoksa dks feyk fn;k tk, rks fefJr nzoksa dk
vfUre rkieku fl rjg Kkr fd;k tk ldrk gSa \
(a) m"ekxfrdh dk thjksFk fu;e
(b) m"ekxfrdh dk izFke fu;e
(c) m"ekxfrdh dk f}fr; fu;e
(d) m"ekxfrdh dk r`rh; fu;e

34. vuqRØe.kh; m"ekxfrd pØ ds fy, fuEu esa D;k lgh gSa \

(a)
dQ

0
T
 (b)

dQ
0

T


(c)
dQ

0
T
 (d)

dQ
0

T


35. ty&ok"iu dh ,UFkSYih esa D;k gksrk gSa \
(a) nkc esa c<ksrjh ls de gks tkrh gSa
(b) nkc esa deh ls de gks tkrh gSa
(c) nkc esa c<ksrjh ls c< gks tkrh gSa
(d) nkc esa ifjorZu ls vizHkkfor jgrh gSa

36. mijks/kh izØe esa] fuEu esa ls dkSulk m"ekxfrd  xq.k/keZ fLFkj jgrk
gS \
(a) ,UFkSYih (b) ,UVªkWih
(c) fof'k"V m"ek (d) mtkZ

37. fuEu esa ls fdl fLFkfr esa] fcuk izokg dk izØe pkyw djus ij] fdlh
i}fr dks nh xbZ m"ek mlds }kjk fd, x, dk;Z ds cjkcj gks tkrh gSa\
(a) le&vk;ruh (b) lenkch
(c) lerkih (d) :}ks"e

38. fLFkj izokg izØe esa] fLFkfrt rFkk xfrt mtkZvksa ds ifjorZuksa dks
udkjrs gq,] fLFkj izokg izØe esa 'kS¶V dk dk;Z fdruk gksrk gSa \

(a) d  (b) d 
(c) Tds (d) sdT

39. fuEu esa ls dkSu&lh fo'ks"kr i}fr dh xgu fo'ks"krk gksrh gSa\
(a) fof'k"V ,UFkSYih (b) vk;ru
(c) xfrt mtkZ (d) ,UVªkWih

40. fdlh m"ekxfrd if"r dh ,d foLr`r fo'ks"krk fuEu esa ls dkSu&lh
gSa \
(a) nkc (b) vk;ru
(c) rkieku (d) ?kuRo

41. ,d m"ek batu dks 283°C  ds fLFkj fuf'pr rkieku ij 278 kW
m"ek iznku dh xbZ vkSj 5°C rkieku ij m"ek dk ifjR;kx gqvkA
rnuqlkj fdrus  kW m"ek dk ifjR;kx djukk gksxk] rkfd batu]
mRØe.kh; gks tk, \
(a) 139 (b) 208
(c) 35 (d) 70
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42. Function of carburetor is to supply

(a) Air and petrol mixture

(b) Air and diesel mixture

(c) Only petrol

(d) Petrol and diesel mixture

43. In a boiler, the feed check valve is used to

(a) Control the feed water flow rate

(b) Check the water level in drum

(c) Ensure unidirectional feed flow to drum

(d) Check quality of feed water

44. When wet steam flows through a throttle valve

(a) Its temperature increases and dryness improves

(b) Its temperature increases but dryness decreases

(c) Its temperature decreases and dryness improves

(d) Its temperature and dryness decreases

45. In internal combustion engine terminology, MPFI

stands for

(a) Multi pressure Fuel Injection

(b) Multi Point Fired Ignition

(c) Multi Point Fuel Injection

(d) Multi Pressure Fired Ignition

46. For complete burning of 1 kg of carbon, the air

required will be about

(a) 2.67 kg (b) 12.7 kg

(c) 11.6 kg (d) 14.5 kg

47. 1ton of refrigeration is equivalent to

(a) 1 kW (b) 2.5 kW

(c) 3.5 kW (d) 5 kW

48. Knocking tendency in an SI engine reduces with

increasing

(a) Compression ratio (b) Wall temperature

(c) Supercharging (d) Engine speed

49. Centane number of a fual is a measure of its

(a) Viscosity (b) Volatility

(c) Ignition quality (d) API specific gravity

50. Critical pressure for steam is

(a) 252 bar (b) 225 bar

(c) 184 bar (d) 163 bar

51. Maximum steam pressure (in bar) in a locomotive

boiler is limited to

(a) 5 (b) 10

(c) 18 (d) 25

42. dkcZqjsVj ds dk;Z esa D;k iznku djuk gS \
(a) ok;q rFkk isVªksy dk feJ.k
(b) ok;q rFkk Mhty dk feJ.k
(c) flQZ isVªksy
(d) isVªksy rFkk Mhty dk feJ.k

43. ckW;yj esa] izHkj.k jks/kd okYo] fdl dk;Z esa bLrseky gksrk gSa\
(a) izHkj.k ty izokg nj dk fu;a=.k
(b) Mªe esa ty Lrj dk jks/ku
(c) Mªe dks ,d&fn'kkRed izHkj.k izokg dks lqfuf'pr djuk
(d) izHkj.k ty dh xq.kork dk jks/ku

44. tc vknzZ Hkki] fdlh mijks/kh okYo ls xqtjrh gSa] rks D;k gksrk gSa\
(a) mldk rkieku c<rk gSa rFkk 'kq"drk lq/kjrh gSa
(b) mldk rkieku c<rk gSa rFkk 'kq"drk de gks tkrh gSaA
(c) mldk rkieku ?kVrk gSa rFkk 'kq"drk lq/kjrh gSa
(d) mldk rkieku 'kq"drk nksuksa ?kVrs gSaA

45. vkarfjd ngu batu dh 'kCnkoyh esa MPFI ls D;k vfHkizk; gSa \
(a) cgq nkc bZa/ku var% {ksi.k
(b) cgq fcUnq vfXu&izTtoyu
(c) cgq fcUnq  bZa/ku var% {ksi.k
(d) cgq nkc vfXu&izTtoyu

46. 1 kg dkcZu ds iw.kZ Toyu ds fy, yxHkx fdruh ok;q dh vko';drk
gksxh \
(a) 2.67 kg (b) 12.7 kg

(c) 11.6 kg (d) 14.5 kg

47. 1 Vu iz'khru] fuEu esa fdlds cjkcj gSa \
(a) 1 kW (b) 2.5 kW

(c) 3.5 kW (d) 5 kW

48. ,d SI batu esa viLQksVu dh izo`fr] fuEu esa D;k c<us ij] de
gks tkrh gSa \
(a) laihMu vuqikr (b) nhokj dk rkieku
(c) vfrHkj.k (d) batu xfr

49. bZa/ku ds lhVsu vad ls mlesa D;k ekih tkrh gSa\
(a) ';kurk (b) ok"i'khyrk
(c) izToyu xq.kork (d) API fof'k"V ?kuRo

50. Hkki ds fy, Økafrd nkc fdruk gksrk gSa \
(a) 252 bar (b) 225 bar

(c) 184 bar (d) 163 bar

51. ,d jsy&batu ds ckW;yj esa vf/kdre Hkki nkc  (ckj esa) fdl lhek
rd jgrk gSa \
(a) 5 (b) 10

(c) 18 (d) 25
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52. Compounding of steam turbine is done to

(a) Balance the rotor

(b) Reduce the blade friction

(c) Reduce the rotor speed

(d) Connect the shaft of one turbine to that of another

53. In diesel engine, the suction contains

(a) Air only

(b) Fuel only

(c) Mixture of air and fuel

(d) Air or fuel

54. The fluid drawn in during suction in petrol engine

contains

(a) Fuel only (b) Fuel or air

(c) Air only (d) Mixture of air and fuel

55. Spark ignition engine is

(a) Petrol engine (b) Diesel engine

(c) Steam engine (d) C.I. engine

56. The working fluid for a diesel engine during the suction

stroke is

(a) Fuel-air mixture

(b) Fresh air

(c) Products of combustion

(d) None of the above

57. For a convergent nozzle, If the exit pressure is less

than critical pressure, the mass rate of flow will be

(a) Increasing (b) Decreasing

(c) Zero (d) Constant

58. In Impulse turbine, pressure on the two sides of the

moving blades

(a) Increases

(b) Decreases

(c) Remain same

(d) May decrease or remain constant

59. Brayton cycle is a reversed

(a) Carnot cycle (b) Rankine cycle

(c) Joule cycle (d) Dual cycle

60. For the same maximum pressure and peak

temperature, which cycle will be most efficient?

(a) Diesel (b) Dual combustion

(c) Otto (d) None of the above

52. Hkki Vjckbu dk la;kstu fdl fy, fd;k tkrk gSa\
(a) jksVj ds larqyu ds fy,
(b) Qyd dk ?k"kZ.k de djus ds fy,
(c) jksVj dh xfr de djus ds fy,
(d) ,d Vjckbu ds 'kS¶V dks nwljh ds 'kS¶V ls tksMus ds fy,

53. Mhty batu esa fdldk pw"k.k gksrk gSa \
(a) dsoy ok;q
(b) dsoy baZ/ku
(c) ok;q rFkk bZa/ku dk feJ.k
(d) bZa/ku vFkok ok;q

54. isVªksy batu esa pw"k.k ds nkSjku df"kZr rjy esa D;k gksrk gSa \
(a) dsoy baZ/ku (b) bZa/ku vFkok ok;q
(c) dsoy ok;q (d) ok;q rFkk bZa/ku dk feJ.k

55. LQqfyaZx izToyu batu dkSu&lk gksrk gSa \
(a) isVªksy batu (b) Mhty batu
(c) Hkki batu (d) C.I. batu

56. fdlh Mhty batu ds fy,] pw"k.k LVªksd ds nkSjku] lfØ; rjy
dkSu&lk gksrk gSa \
(a) bZa/ku&ok;q dk feJ.k
(b) rkth gok
(c) ngu ds mRikn
(d) mi;qZDr esa ls dksbZ ugha

57. fdlh vfHklkjh rqaM ds fy,] ;fn fudkl nkc mlds Økafrd nkc ls
de gks] rks izokg dh nzO;eku nj dSlh gksxh \
(a) c<rh gqbZ (b) ?kVrh gqbZ
(c) 'kwU; (d) fLFkj

58. vkosxh Vjckbu esa py Qydksa ds nksuksa ik'oksZ ij nkc dSlk gks tkrk
gS\
(a) c< tkrk gSa
(b) de gks tkrk gSa
(c) ;Fkkor~ jgrk gSa
(d) de gks tkrk gS ;k fLFkj jgrk gSa

59. czsVu pØ fdldk myVdj :i gSa
(a) dkuksa pØ (b) jSafUdu pØ
(c) twy pØ (d) }Srh pØ

60. ,dleku vf/kdre nkc rFkk mPpre rkieku ds fy, dkSu&lk pØ
lcls T;knk n{k gS \
(a) Mhty (b) }Sr ngu
(c) vkWVks (d) mi;qZDr esa ls dksbZ ugha
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61. An ideal fluid

(a) Has no viscosity

(b) Satisfies the relation pv = RT

(c) Obeys Newton’s Law of viscosity
(d) is both incompressible and non-viscous

62. For small discharge at high pressure following pump

is preferred:

(a) Mixed flow (b) Reciprocating

(c) Axial flow (d) Centrifugal

63. In a reaction Turbine

(a) Flow can be regulated without loss

(b) Water may be allowed to enter a part or whole of

wheel circumference

(c) The outlet must be above the tail race

(d) There is only partial conversion of available head

to velocity head before entry to runner

64. Impulse Turbine is generally fitted

(a) Little above the tail race

(b) At the level of the tail race

(c) Slightly below the tail race

(d) About 2.5 meters below the tail race

65. In general, the vanes of a centrifugal pump are

(a) Curved forward (b) Curved backward

(c) Radial (d) Twisted

66. Francis Turbine is best suited for

(a) All type of heads

(b) Medium head application from 24 to 180 m

(c) Low head installations up to 30 m

(d) High head installations above 180 m

67. Head developed by a centrifugal pump depends on

(a) Impeller diameter (b) Speed

(c) Type of casing (d) (A) & (B)

68. The vertical distance of the center of pressure below

the c.g. of the inclined plane area (submerged in

liquid) is

(a)
2

c.g.I sin

Ax


(b)

2
c.g.I cos

Ax



(c)
2

c.g.I sin

x


(d)

2
c.g.I cos

x



61. vkn'kZ rjy dSlk gksrk gSa \
(a) vkn'kZ rjy dSlk gksrk gWS \
(b) pv = RT laca/k dks larq"V djrk gSa
(c) U;wVu ds ';kurk fu;e dk ikyu djrk gSA
(d) vlaihM~; rFkk ';kukghu nksuksa gSa

62. mPp nkc ij de foltZu ds fy, dkSu&lk iai csgrj gSa \
(a) fefJr izokg (b) izR;kxkeh
(c) v{kh; izokg (d) vidsUnzh

63. izfrfØ;k Vjckbu esa D;k gksrk gSa \
(a) izokg dks fcuk uqdlku ds fu;fer fd;k tk ldrk gSa
(b) ty dks] ifg;k dh ifjf/k ds ,d Hkkx ;k iwjh  ifjf/k ds ,d

Hkkx ;k iwjh ifjf/k esa izos'k djus fn;k tk ldrk gSa
(c) fuxZe dks folZtuh ds mij gksuh pkfg,
(d) juj esa izos'k ls igys] miyC/k 'kh"kZ dk osx 'kh"kZ esa dsoy

vkaf'kd :ikUrj.k gksrk gSa

64. vkosxh Vjckbu] lkekU;r% dgkWa yxkbZ tkrh gS \
(a) foltZuh ls FkksMk mij
(b) foltZuh ds Lrj ij
(c) foltZuh ls FkksMk uhps
(d) foltZuh ls yxHkx 2-5 ehVj uhps

65. lkekU;r% vidsUnzh iai ds Qyd dSls gksrs gSa \
(a) vxz ofØr (b) i'p ofØr
(c) f=T; (d) ,saBs gq,

66. ÝSafll Vjckbu fdlds fy, lcls mi;qDr gSa \
(a) lHkh izdkj ds 'h"kksZ ds fy,
(b) 24 ls 180 eh- rd dk e/;e 'kh"kZ iz;ksx
(c) 30 eh rd fuEu 'kh"kZ vf/k"Bkiu
(d) 180 eh ls mij mPp 'kh"kZ vf/k"Bkiu

67. vidsUnzh iai }kjk fodflr 'kh"kZ fdl ij fuHkZj gSa \
(a) iz.kksnd dk O;kl (b) xfr
(c) vkoj.k dk izdkj (d) mi;qZDr (a) ,oa (b)

68. vkur ry ;k ,d rjy esa fuefTtr ds {ks=Qy ds c.g. ls uhps
nkc dsUnz dh m/okZ/kj nwjh fdruh gksrh gS \

(a)
2

c.g.I sin

Ax


(b)

2
c.g.I cos

Ax



(c)
2

c.g.I sin

x


(d)

2
c.g.I cos

x


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69. For a nozzle to convert subsonic flow into a

supersonic flow, it must be

(a) Convergent type

(b) Divergent type

(c) Convergent-Divergent type

(d) Of uniform cross-sectional area

70. A liquid moving with constant angular momentum

has tangential velocity of 1.2m/s 3 m from axis of

rotation. The tangential velocity at 1.5m from axis of

rotation, in m/s is

(a) 0.6 (b) 3.75

(c) 5.4 (d) 6.0

71. With the same cross-sectional area and placed in the

turbulent flow, the largest drag will be experienced by

(a) A sphere

(b) A streamlined body

(c) A circular disc held normal to the flow direction

(d) A circular disc held parallel to the flow direction

72. A streamlined body is such that

(a) It produces no drag for flow around it

(b) It is symmetrical about the axis along the free

stream

(c) Separation of flow is avoided along its surface

(d) The shape of the body coincides with the stream

surface

73. Pascal second is the unit of

(a) Pressure (b) Kinematic viscosity

(c) Dynamic viscosity (d) Surface tension

74. The shear stress in a turbulent pipe flow

(a) Varies parabolically with radius

(b) is constant over the pipe radius

(c) Varies according to the 1/7th power law

(d) Is zero at the center and increases linearly to the

wall

75. A rectangular tank of square cross-section (2m × 2m)

and height 4 m is completely filled up with a liquid.

The ratio of total hydrostatic force on any vertical

wall to its bottom is

(a) 2.0 (b) 1.5

(c) 1.0 (d) 0.5

69. vo/okfud izokg dks ijk/ofud izokg esa :ikarfjr djus ds fy,
fdlh ukWty dks dSlk gksuk pkfg, \
(a) vfHklkjh izdkj dk
(b) vilkjh izdkj dk
(c) vfHklkjh&vilkjh izdkj dk
(d) ,d leku vuqizLFk&ifjPNsn ds {ks=Qy dk

70. ,d fLFkj dks.kh; laosx ls xfreku rjy dk] ?kw.kZu&v{k ls 3 m dh
nwjh ij Li'kZjs[kh; osx  1.2 m/s gSA rnuqlkj ?kw.kZu&v{k ls 1.5

m nwjh ij Li'kZjs[kh; osx (m/s) fdruk gksxk \
(a) 0.6 (b) 3.75

(c) 5.4 (d) 6.0

71. vuqizLFk ifjPNsn {ks=Qy ,dleku gksus ij] vkSj fo{kqC/k izokg esa
j[kus ij] lokZf/kd fod"kZ fdlesa izrhr gksxk \
(a) ,d xksyk
(b) ,d lqokgh fiaM
(c) ,d o`rkdkj fMLd tks izokg dh fn'kk ds vfHkyEc j[kh gks
(d) ,d o`rkdkj fMLd tks izokg dh fn'kk ds lekarj j[kh gks

72. ,d lqokgh fiaM dSlk gksrk gSa \
(a) og vius pkjksa vksj ls izokg esa foydqy fod"kZ mRiUu ughas

djrkA
(b) og eqDr /kkjk ds v{k ds lkFk lefer gksrk gSa
(c) mldh lrg ds lkFk] izokg dk ikFkZD; ugha gks ikrk
(d) fiaM dk vkdkj] izokg dh lrg ls fey tkrk gSa

73. ikLdy lsd.M] fdldh bdkbZ gSa \
(a) nkc (b) xfrd ';kurk
(c) xR;kRed ';kurk (d) ryh; ruu

74. fo{kqC/k ikbi&izokg esa vi:i.k izfrcy dSlk gksrk gSa
(a) f=T;k ds lkFk ijoyh; <ax ls cnyrk gSa
(b) ikbi dh f=T;k ij fLFkj jgrk gSa
(c) 1/7th 'kfDr fu;e ds vuqlkj cnyrk gSA
(d) dsUnz esa 'kwU; jgrk gSa vkSj nhokj dh vksj jSf[kd <ax ls c<rk

gSA

75. ,d oxkZdkj vuqizLFk ifjPNsn (2m × 2m) vkSj 4 m mWapkbZ dh
vk;rkdkj Vadh dks ,d rjy ls iwjk Hkj fn;k tkrk gSA rnuqlkj
fdlh m/okZ/kj nhokj vkSj mldh ryh ds dqy nzoLFkSfrd cyksa dk
vuqikr fdruk gksxk \
(a) 2.0 (b) 1.5

(c) 1.0 (d) 0.5
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76. fdlh izR;kxkeh iai esa ok;q okfgdk dks fdl dk;Z ds fy, iz;qDr fd;k
tkrk gSa \
(a) pw"k.k nkcksPprk esa deh
(b) iznku nkcksPprk esa o`f}
(c) ,dleku nj ij ty dh lrr vkiwfrZ
(d) ty dh vkiwfrZ esa o`f}

77. fo{kqC/k izokg esa vi:i.k izfrcy fdl dkj.k mRiUu gksrk gSa\
(a) rjy dk ';kurk xq.k
(b) rjy dk ?kuRo
(c) izokg dh fn'kk esa ossx dk mPpkopu
(d) izokg dh fn'kk vkSj vuqizLFk fn'kk esa Hkh] osx dk mPpkopu

78. ,dy dk;Z'khy izR;kxkeh iai ls fdruk foltZu gksrk gSa \ (N-rpm)

(a) Q = ALN (b) Q = ALN/60

(c) Q = 2ALN/60 (d) Q = 2ALN

79. nks lekUrj IysVksa ds chp ds ';kurk izokg ds fy, izfr bdkbZ ds
yackbZ ds fy,] nkc esa fdruh deh gks tkrh gSa \
(a) 212 UL / egD (b) 212 U / D

(c) 212 UL / D (d) 232 UL / D

80. bdkbZ foltZu Q
u
rFkk bdkbZ xfr  N

u
dk Vjckbu dk oØ] fp= esa

uhps iznf'kZr gSA rnuqlkj oØ B Ø fdlds fy, gSa%

B

Nu

Qu

(a) ÝSaflal Vjckbu (b) dSIyu Vjckbu
(c) isYVu Vjckbu (d) uksnd Vjckbu

81. pqcad'khyrk fdlesa vYi gksrh gSa \
(a) eghu d.k (b) e/;e d.k
(c) eksVs d.k (d) xksy d.k

82. rkj d"kZ.k esa MkbZ fdlls cus gksrs gSa \
(a) <yokWa bLikr (b) <yokWa yksgk
(c) dkckZbM (d) fiVokWa yksgk

83. FkfeZV osYMu esa] ,syqfefu;e rFkk vk;ju vkWDlkbM fdl vuqikr esa
feyk, tkrs gSa \
(a) 1 : 3 (b) 1: 2

(c) 1: 1 (d) 2: 1

76. Air vessel is used in a reciprocating pump to obtain

(a) Reduction of suction head

(b) Rise in delivery head

(c) Continuous supply of water at uniform rate

(d) Increases in supply of water

77. Shear stress in a turbulent flow is due to

(a) Viscous property of the fluid

(b) Fluid density

(c) Fluctuation of velocity in the direction of flow

(d) Fluctuation of velocity in the direction of flow as

well as transverse to it

78. The discharge through a single acting reciprocating

pump is (N-rpm)

(a) Q = ALN (b) Q = ALN/60

(c) Q = 2ALN/60 (d) Q = 2ALN

79. For viscous flow between two parallel plates, the

pressure drop per unit length is equal to

(a) 212 UL / egD (b) 212 U / D

(c) 212 UL / D (d) 232 UL / D

80. The unit discharge Q
u
 and unit speed N

u
 curve for a

turbine is shown in figure, curve B is for

B

Nu

Qu

(a) Francis turbine (b) Kaplan turbine

(c) Pelton turbine (d) Propeller turbine

81. Permeability is poor for

(a) Fine grains (b) Medium grains

(c) Coarse grains (d) Rounded grains

82. Dies for wire drawing are made of

(a) Cast stee (b) Cast Iron

(c) Carbides (d) Wrought Iron

83. In thermit welding, aluminium and Ironoxide are mixed

in the proportion of

(a) 1 : 3 (b) 1: 2

(c) 1: 1 (d) 2: 1
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84. /kkrq izfr:i fdlesa iz;qDr gksrsa gSa \
(a) NksVh <ykbZ
(b) cMh <ykbZ
(c) lgh rFkk tfVy <ykbZ
(d) nykbZ dk cMs iSekus ij mRiknu

85. osYyu izfØ;k }kjk IysV dh eksVkbZ ,dleku izkIr djus ds fy,] dksbZ
D;k djrk gSa \
(a) osYyu ij mHkkj
(b) osYyu ij varyZc
(c) osYyu dk dBksju
(d) ?k"kZ.kjks/kh cs;fjax

86. drZu vkStkj ds inkFkZ dh lcls t:jh lkexzh D;k gksrh gSa\
(a) dkcZu dk izfr'kr
(b) /kkrqfeJ.k rRo dk izfr'kr
(c) yky ;k rIr dBksjrk
(d) ljy lafopju

87. lksYMju izfØ;k fdl rkieku&ifjlj esa lEiUu dh tkrh gSa\
(a) 15-60°C (b) 70-150°C

(c) 180-250°C (d) 300-500°C

88. oS|qr izfrjks/k osYMu esa] lay;u dks izkIr djus ds fy,] rki rFkk nkc
nksuksa dk mi;ksx fd;k tkrk  gSA rnuqlkj osYM dks izkIr djus ds
fy, vko';d nkc] fdruk cny ldrk gS \
(a) 50-100 kgf/cm2 (b) 100-200 kgf/cm2

(c) 250-500 kgf/cm2 (d) 500-850 kgf/cm2

89. ,dy fcUnq drZu vkStkj ds vxz Hkkx vkSj ik'oZ ds chp ds dks.k dks
D;k dgrs gSa \
(a) voueu dks.k (b) varjky ;k vodk'k dks.k
(c) vks"B dks.k (d) Hkqtk dks.k

90. mrki Vadu ;k iDdk VkWadk yxkuk ds fy, lkekU;r% dkSu&lk ¶yDl
iz;qDr gksrk gSa \
(a) iz;qDr (b) cksjsDl
(c) lhlk (d) dSfYl;e DyksjkbM

91. CySad drZu rFkk os/ku ds dk;Z] ,dlkFk fdlesa fd, tk ldrs gSa \
(a) ljy MkbZ (b) la;qDr MkbZ
(c) izxkeh MkbZ (d) cgqfØ; MkbZ

92. ;fn fo|qr~ /kkjk dks /kkrqvksa esa izokfgr djds] mUgsa tksMdj vkSj
IykfLVd voLFkk rd xeZ djds] nkc dk iz;ksx djds osYM fd;k tkrk
gSa] rks mDr osYMu dks D;k dgrs gSa \

84. Metal patterns are used for

(a) Small castings

(b) Large castings

(c) Precise and intricate castings

(d) Large scale production of castings

85. In order to get the uniform thickness of the plate by

rolling process, one provides

(a) Camber on the rolls

(b) Offset on the rolls

(c) Hardening of the rolls

(d) Antifriction bearing

86. The most important requisite of a cutting tool material is

(a) Carbon percentage

(b) Percentage of alloying element

(c) Red (hot) hardness

(d) Easy Fabrication

87. The Soldering process is carried out in the temperature

range

(a) 15-600C (b) 70-1500C

(c) 180-2500C (d) 300-5000C

88. In electrical resistance welding, both heat and pressure

are used to effect coalescence. The pressure necessary

to effect the weld varies from

(a) 50-100 kgf/cm2 (b) 100-200 kgf/cm2

(c) 250-500 kgf/cm2 (d) 500-850 kgf/cm2

89. The angle between the face and the flank of the single

point cutting tool is known as

(a) Rake angle (b) Clearance angle

(c) Lip angle (d) Side angle

90. The commonly used flux for Brazing is

(a) Slag (b) Borax

(c) Lead (d) Calcium chloride

91. Blanking and piercing operations can be performed

simultaneously in

(a) Simple die (b) Compound die

(c) Progressive die (d) Combination die

92. If electrical current is passed through the metals to

be joined and heated to the plastic state and weld is

completed by the application of pressure, the welding

is known as
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(a) Forge weld

(b) Electric arc welding

(c) Resistance welding

(d) Thermit welding with pressure

93. In case of shaper, for finish machining, the practice
is to use
(a) Maximum feeds at high speeds
(b) Maximum feeds at slow speeds
(c) Minimum feeds at slow speeds
(d) Minimum feeds at high speeds

94. In which milling operation, is the surface finish better?
(a) Climb (b) Down
(c) Conventional (d) Face

95. Tool signature comprises of how many elements?
(a) 5 (b) 7
(c) 9 (d) 11

96. A half nut is
(a) nut manufactured in parts
(b) Nut with half the standard pitch
(c) A double start nut for a quick shaft
(d) Mechanism that locks the lathe carriage to the

lead screw for thread cutting

97. Automobile gears are generally manufactured by
(a) Hobbing (b) Stamping
(c) Extrusion (d) Rolling

98. Spot welding is most suitable for joining parts having
thickness up to
(a) 50 mm (b) 30 mm
(c) 20 mm (d) 10 mm

99. Thermit welding differs from other methods of
welding in that
(a) It does not use heat
(b) It is less time consuming
(c) It does not require electrodes
(d) It employs exothermic chemical reaction for

developing high temperature

100. The binder in case of synthetic sand used for moulding is
(a) Clay (b) Molasses

(c) Water (d) Bentonite and water

(a) QkstZ osYM
(b) fo|qr~ vkdZ osYMu
(c) izfrjks/k osYMu
(d) nkc lfgr FkfeZV osYMu

93. la:fp= ds ckjs esa] ifj"d`r e'khuu ds fy, D;k izfØ;k gS \
(a) mPp xfr ij vf/kdre Hkj.k
(b) ean xfr ij vf/kdre Hkj.k
(c) ean xfr ij U;wure Hkj.k
(d) mPp xfr ij U;wure Hkj.k

94. fdl fefyax lafØ;k esa] ry&ifj"d`fr csgrj gksrh gSa \
(a) vkjksg (b) vojksg
(c) :< (d) vxz Hkkx

95. vkStkj ladsr esa fdrus esa fdrus ?kVd gksrs gSa\
(a) 5 (b) 7
(c) 9 (d) 11

96. v/kZ uV D;k gksrk gSa \
(a) Hkkxksa esa fufeZr uV
(b) og uV] ftldk ekud fip vk/kk gksa
(c) Rofjr 'kS¶V ds fy, f}izorhZ uV
(d) eq[; drZu ds eq[; isap rd ds [kjkn /kju dks can djus dh

;a=koyh

97. vkWVkseksckby fx;j lkekU;r% fdlds }kjk cuk, tkrs gSa \
(a) gkfcZax (b) LVSafEiax
(c) cfgosZ/ku (d) osYyu

98. LFkkfud osYMu fdl eksVkbZ okys Hkkxksa dks tksMus ds fy, lokZf/kd
mi;qDr gSa \
(a) 50 mm (b) 30 mm
(c) 20 mm (d) 10 mm

99. FkfeZV osYMu vU; izdkj ds osYMu ls fdl izdkj fHkUu gSa \
(a) mlesa m"ek dk iz;ksx ugha gksrk
(b) mlesa le; de yxrk gSa
(c) mlesa bysDVªksMksa dh t:jr ugha iMrh
(d) mPp rkieku fodlhr djus gsrq] og m"ek{ksih jklk;fud

izfrfØ;k dk iz;ksx djrk gSA

100. eksYMu ;k lkWapksa esa <kyus ds fy,] d`f=e jsr dk bLrseky djrs
le;] fdl ca/kd dk iz;ksx gksrk gSa \
(a) e`nk (b) 'khjk
(c) ty (d) csaVksukbV rFkk ty
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1 D 2 C 3 A 4 C 5 B
6 C 7 C 8 B 9 B 10 D
11 D 12 D 13 C 14 D 15 D

16 A 17 B 18 A 19 A 20 C
21 C 22 D 23 A 24 B 25 C
26 C 27 B 28 D 29 C 30 B
31 B 32 D 33 C 34 B 35 A

36 A 37 C 38 B 39 A 40 B
41 A 42 A 43 C 44 C 45 C
46 C 47 C 48 D 49 C 50 B
51 C 52 C 53 A 54 D 55 A

56 B 57 D 58 C 59 C 60 A
61 D 62 B 63 D 64 A 65 B
66 B 67 D 68 A 69 C 70 A
71 C 72 D 73 C 74 D 75 C

76 C 77 D 78 B 79 D 80 A
81 A 82 C 83 A 84 D 85 A
86 C 87 C 88 C 89 A 90 B
91 C 92 C 93 D 94 A 95 B

96 D 97 A 98 D 99 D 100 D

Answer Key


